a=x-19 1, 3x+a+1& aoll T 202 YefiH?

® a+2

® 4a
@ 4a+3

a=x—-1Sx2 At H x=a+1
o171 4] it

3a+1)+a+1=3a+3+a+1=4a+ 40|}




@(3 —3x—6x%) - 3(2x + 2x - 3)
@ <—§x2 +3x— 4) - (—5 - 6x — §x2>
® -2x%(1-x)

~&B

OX]

@ 8 + 4x% (°]AHA])

® 12 - 9x — 12x% (°]A}A])
@ 9x+ 1 (27H4)

® —2x% 4 2x° (AAHA)




da?p? =[] _

T —2a+4ab QW[ [t EojZ gure 4]

@®© -8a%p? @ -8a*p? ® -8a4%p?

@ 8a3b? (@)841%3

~&B

4a*h* -0
—2ab?

4a’b? — A = —2ab*(-2a + 4ab)

A = 4a*b? + 2ab*(—2a + 4ab)

= 4a’b? + 8a’b> — 4a*b* = 8a’b?

= —2a + 4ab oA Hl ko] 5012 A& A & F2




-3a+b-
(] 7,
\
4b
1
ul '
a’ "=--5q--"
D S = 16ab - b2 @s = 16ab — 2b>
@ S = 16ab — 3b> @ S = 16ab — 4b?

® S = 16ab - 5b?

~&B

w5 Aekelze] S Zols
a+5a—(3a+b) =3a-boltt.

S :%{(3a—b)+5a}x4b

= 16ab — 2b?




a+2b

5. 3a-2b=2a+b<d T, o] Zk29
2a—b
9 1
O-2  @-3 @0 @n ® 13

3a—2a=>b+2bNA a=3bo|EE Fo|X] Aof tjQotH
3b+ 2b ob

5x3b-b 56




4708 4= a, b, ¢, dol|l A5t 712 | | & .

a

b
4 =ad-bcE A9

St
3
’ x+2y—3 —15 %9
- 1 =
y—x+ 5
5 3 3
@x—i);—?) @x—§y7—2 ®x+§y—1
@—x+§y @—x+§y
1
(x—|-2y—3)><§— —E)x(y—x—i-l)
_(_x+ _§)_ 3 +§x_§>
BACHERA 2Y T Ty
I N
Tty Ty TRy T Ty
.9




T oAl A, Boll Hlske] A«B = A-3B et A2 512} A = x2+2x-4
e

, B=x%?-3x+59] ti5}t] (A« B) x B & 7IHs] SFH?

@ -5x% -20x-22 @—5x2+20x—34
® 2x2-x+1 @ 2x°+5x+9

® 5x2+22x—4

B

(AxB)*B=(A-3B)-3B=A-6B0|E&
(x> +2x—4) - 6(x* - 3x +5)
=x%2+2x—4-6x>+18x-30

= —5x% + 20x — 34




~da-{3a+5b-20a-2- )} =-a-1p 2w, [__]

bl &2 427

® -3b-2a @ -b-4a @b—2a

@ 2a+3b ® 3a+3b

B

~da-{3a+5b-2(a-2b-[ )}
=-da-(3a+5b-2a+4b+2 )
= 4a-3a-5b+2a-4b-2 |
=5a-9b-9  |=-a-11b

[ ]=b-2a




ohe 0] AAZgelA AL REo] Yol s e} & uf, 5 9

&2 (2, S 7F opd RE2 Z47F AFR 3t ghdo|tt)
/"——b“~\\
/
2/
a
\ S
\
\
1 3
@ 2ab - 47 @ 2ab—c;27r @Zab— §a27r
@ 2ab - 2a*n ® 2ab- §a27r

~&B ~

1 1
S =2ab—zlxnx(2a)2—§xnxa2
= 2ab — a’n — =d’n

= 2ab — §a27r




10. 5a — 3b 3a—|—5b:

~b 2 a ol Wte] B

T+t 2a —b 5 a o Tsto] =

@ a=3b @a:—3b @ a==-b
3 3

@a—z @G——Z

B

5a—3b 3a-+5b
3 4 1 =2a-b

4(5a — 3b) + 3(3a + 5b) = 24a — 12b
5a = —15b
~a=-3b




11, of® 4 A of 24 ~5x-+ 7 & Wo} & 22 WRste] HstALi, Hol
7 - 2x 43 o] S|GIT, vk ARG FL9

D 5x2+3x-4 @ 5x2-3x-4 @ 3x2-2x+ 17

@3x2+8x—11 ® 3x2-12x+3

A=7x-2x+3-(2x> -5x+7)
=5x?+3x—4
(HFEAAY) = 5x% +3x -4 — (262 = 5x+7)
=3x24+8x-11




ol

12, (15x% + 9xy)+3x + (25y% — 5xy)+5y & o] oFH?

@4x+8y @ 8x+4y ® 10x+ 2y

@ 10x+ 8y ® 14y

(15x2 +9xy) + 3x+ (25y% —5xy) + 5y = 5x+3y+5y—x = 4x+8y




13. the Alo) zhe oo

x2yz_ 2Xy+xy2z 1 1
ST SN S
XyzZ ( X 2 > Y 3 s Z )
1 1 1 5
2 3 6 - 0

B

x2yz — 2xy + 9%z
xyz Xz




14.

A=x>-2x+5 B=2x"+x-3 4 W, 5A-(2A+B) Exol &

A0 2 YERYHE?
D 2x2-5x+38 @ -3x2-7x-5
® x2+6x+9 @ —x%4+10x-22

(@)x2 - Tx+ 18

135}
1_.

,B_Jg}t——tﬂfﬂo]-tﬂ
3(x? —2x+5)— (2x* + x-3) =x* - Tx+ 18




& o, (10xy - 15y?) = 5y o] 27

@ -3 ® -2 @)




